®,

LINER

MAXLINER

INSTALLATION
INSTRUCTIONS
MANUAL

L05-0140A; Rev.01

MAXCOVER 180 ABS

FORD RANGER DOUBLE CAB 2022

RAPTOR 2022

Contact us

THAILAND OFFICE EUROPE OFFICE AUSTRALIA/OCEANIA OFFICE

&, + (66 38) 468 008 ext 2001 & +31(0)850201 887 & +611800592 192

X info@maxiiner.com X infoEurope@vandapac.com X sales@maxliner.com.au
Vandapac ﬁ 700/135 Moo 5, Amata Nakorn, ﬁ Aphroditestraat 1, 5074TW Tilburg , Netherlands ﬁ 2 Dexter Drive Epping 3076 Australia

Klongtumru, Muang Chonburi, 20000 Thailand Chamber of Commerce : 71512799
VAT identification number : NL858744272801

1721



COmponent parts

=]

For case
painting body

2X

s
i

M8x40 M8x20 -
2X 8x 0 .
‘}
) S
M6x30 M6x20 M6x15
- 8x s 2X
2/21




Component parts

(22 (23 24 D D
N N Qo @)
M6 M8x20 M8x25 M8
8x 4x 2X 16x 2X
D 28] D (30] (31)
&) & @
M8 M6 M8 M6
58x 2X 58x 2x 3x
@ gz
A4/ 1x
Ad [ 1x
o Ad [ 1x

Component parts

7
@

No.10,12,17 No.4

—
e

\NF s 23

o\

No.2.5,4,5

74 |
on supply)

______________________

3/21



* FOR MODEL

With KD liner With bedliner TD type Without bedliner

With bedliner DC

(logo MAX) (logo FORD)

under rail type

(logo MAX)

Instruction procedure

(logo FORD)

* For model with bedliner TD type

4/21



LH

FRONT RH
REAR RH

FRONT LH
CENTER B
REAR LH

CENTER ARH
CENTER B RH

REAR LH

FRONT LH

77772227772

CENTER A LH
CENTER B LH

3.1

s s

!

§
— |
i B
,

(]
L
=)
©
(]
(S
o
S
Q.
c
(o}
-
(®)
=}
.
b
("
c

5/21




Instruction procedure

y

i

REAR LH

CENTER B LH

CENTER A LH

FRONT LH

6/21



LH =RH

Instruction procedure




Instruction procedure

(Non supply)

O

Torque 12 Nm.

=l
o | YOI T ITIT®7 | o] @\Ll

8/21



Instruction procedure

7 0"\

7 850%

Soo——
No.10,12

13 [

2 Y ‘ %}v Tz
,/ 6309 > g”llllmlw
——> -~
No.12,17 Torque 18 Nm.

9/21



Instruction procedure
(¥ LH/RH
' = G
So— ~ Ly

T—> U
No.12 Torque 18 Nm.|:




(<)
—
=
O
Q
Q
O
—
Q.
c
(©)
=
(&)
=]
—
wid
(2]
(=

N
N~
-
N~
-—




X
LS

N

WL

Torque 5 Nm.

Instruction procedure

20

12/21




()
S
=)
©
(]
(S
(o)
S
Q.
c
()
—
o
=}
|
b
("
c

13/21



(@)

<1l Iy

©

Instruction procedure

26

14/21



(<)
—
=
o
Q
Q
(o)
—
Q.
c
(©)
=S
(&)
=
—
wid
(2]
(=

LH =RH

Torque 18 Nm.

Torque 18 Nm.

No.12

1st

15/21



(Non supply)

Instruction procedure

33.2

Silicone \

16/21



% Open & Close

% Interior light on-off

17/21



/o
i._No.25 _

2

% Adjust double lock
Case: 1 K

Case: 2 X

2

18/21



 Painting body

Masking area

/Masking area

- Paint @rea -------eeceeeoeesee e

19/21



% Painting body

20/21



=/

A !

MAXLINER

~_ =
@~




